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General Instructions :General Instructions :General Instructions :General Instructions :General Instructions :

1. All questions are compulsory.

2. There is no overall choice. However internal choice have been provided in 3
questions of 3 marks category and 3 questions of 5 marks category.

3. Ques. 1 to Ques. 8 are very short answer type and carry 1 mark each.

4. Ques. 9 to Ques. 17 are short answer type II and carry 2 marks each.

5. Ques. 18 to Ques. 25 are short answer type I and carry 3 marks each.

6. Ques. 26 to Ques. 31 are long answer type questions and carry 5 marks each.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

1. lHkh iz'u vfuok;Z gSaA

2. dksbZ lexz fodYi ugha gS gkykafd] 3 vadksa osQ 3 iz'uksa vkSj 5 vadksa osQ 3 iz'uksa osQ varxZr vkarfjd fodYiksa

dks iznku fd, x;k gSA

3. iz'u la[;k 1 ls 8 rd izR;sd dk 1 vad gSA

4. iz'u la[;k 9 ls 17 rd y?kq mÙkj izdkj II osQ iz'u gSa vkSj izR;sd 2 vad dk gSA

5. iz'u la[;k 18 ls 25 rd y?kq mÙkj izdkj I osQ iz'u gSa vkSj izR;sd 3 vad dk gSA

6. iz'u la[;k 26 ls 31 rd nh?kZ mÙkj izdkj osQ iz'u gSa vkSj izR;sd 5 vad dk gSA
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1. Deafness implies total hearing impairment. Name the technique used by total
hearing impaired (deaf) people to communicate with others effectively.

cgjkiu dk vFkZ iw.kZ Jo.kghurk gSA Jo.k {kerk izHkkfor (cgjs) O;fDr;ksa }kjk izHkkoh :i ls

nwljksa osQ lkFk laokn djus osQ fy, iz;ksx dh tkus okyh rduhd dk uke fyf[k,A 1

2. Acidified water is electrolysed by using graphite electrodes. Name the gas
produced at :

(a) Positive graphite electrode (Anode)

(b) Negative graphite electrode (cathode)

vEyho`Qr ikuh dk fo|qr vi?kVu (bysDVªksfyfll) xzsiQkbV bysDVªksMksa dk mi;ksx djosQ fd;k tkrk

gSA bl izfozQ;k esa (a) ,uksM rFkk (b) oSQFkksM ij fudyus okyh xSl osQ uke crkb,A 1

3. An alloy, having aluminium in it, is used for making aircraft bodies. Write its
name.

,d fefJr /krq] ftlesa ,Y;wfefu;e gksrk gS] dk mi;ksx gokbZtgktksa osQ <k¡ps cukus esa fd;k tkrk

gSA bl fefJr /krq dk uke fyf[k;sA 1

4. Name the two major sources of water pollution.

ikuh osQ iznw"k.k osQ nks izeq[k L=kksrksa osQ uke fyf[k;sA 1

5. Identify the type of combustion that takes place when sodium is exposed to  air.

gok esa j[kus ij lksfM;e osQ Tofyr gks tkus osQ ngu dk izdkj D;k dgykrk gS\ 1

6. Name the gland which controls the secretion of testosterone from the testes.

VsLVhl (o`"k.k) ls VsLVksLVsjksu gkeksZu osQ lzko dks fu;af=kr djus okyh xzafFk dk uke fy[k;sA 1

7. When do viruses show the characteristics of living organisms ?

fo"kk.kq ltho (tho tarqvksa) osQ fo'ks"k y{k.k dc n'kkZrs gSa\ 1

8. Name the disease that caused the Irish Famine in 1740-41.

ml chekjh dk uke fyf[k;s tks 1740&41 esa vk;fj'k vdky dk dkj.k cuhA 1
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9. A ray of light enters obliquely into water from air. How does the ray of light

bend in this case ? State the reason behind it.

izdk'k dh ,d fdj.k gok ls ikuh esa frjNh izos'k djrh gSA bl izfozQ;k esa izdk'k dh fdj.k

oSQls eqM+rh gS\ bldk dkj.k Hkh crkb;sA 2

10. The retina of the human eye has a large number of light sensitive cells, known

as ‘rods’ and the ‘cones’. State the main function of these two types of light

sensitive cells.

ekuoh; vk¡[k osQ n`f"V iVy (jsfVuk) ij ^jkWM* rFkk ^dksu* ukeksa ls tkus tkuh okyh vla[; izdk'k

laosnu'khy dksf'kdk,¡ gksrh gSaA bu nksuksa izdkj dh izdk'k laosnu'khy dksf'kdkvksa osQ eq[; dk;Z crkb;sA

2

11. Identify the following :

(a) The planet having largest number of natural satellites.

(b) The comet, which visits the earth every 76 years.

(c) The third brightest star in the night sky.

(d) A constellation shaped like a (distorted) W or M.

fuEufyf[kr dh igpku djsaμ

(a) lcls vf/d izko`Qfrd mixzgksa okyk xzgA

(b) /weosQrq @ dkWesV tks izR;sd 76 lky ckn vkdk'k esa n`'; gksrk gSA

(c) jkr osQ vkdk'k esa rhljk lcls pedhyk rkjkA

(d) ,d u{k=k (rkjke.My)] tks vaxzsth osQ v{kj ‘W’ vFkok ‘M’ osQ fcxM+s (foo`Qr) :i tSlk

fn[kkbZ nsrk gSA 2

12. (Geostationary) Satellites have revolutionised communication. How do they

perform their task ?

(Hkw&fLFkjh;) mixzgksa us lapkj osQ {ks=k esa ozQkfUr yk nh gSA mixzg viuk dk;Z fdl izdkj djrs

gSa\ 2
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13. A silk like fibre ‘X’, made from wood pulp, has properties similar to those of
(natural) silk.

(a) Name the fibre ‘X’ (b) List any two uses of fibre ‘X’.

(izko`Qfrd) js'ke osQ leku xq.kksaa okyk ,d js'kk ‘X’ ydM+h dh yqxnh ls cuk;k tkrk gSA

(a) bl js'ks (iQkbcj) ‘X’ dk uke crkb;sA  (b) bl js'ks osQ dksbZ nks mi;ksx fyf[k;sA 2

14. Give reasons for the following :

(a) If the clothes of a person catch fire, the person should be immediately
wrapped in a thick blanket.

(b) Burning of coal and diesel causes acid rain.

fuEufyf[kr osQ dkj.k crkb;sμ

(a) ;fn fdlh O;fDr osQ diM+ksa dks vkx yx tkrh gS] rks mls rqjar eksVs oaQcy esa yisVk tkuk

pkfg,A

(b) dks;ys vkSj Mhty dk tyu vEyh; ckfj'k (acid rain) dk dkj.k cu tkrk gSA 2

15. Mention the name and size of :

(a) The smallest cell in the living world

(b) The largest cell in the living world

fuEu osQ uke vkSj vkdkj osQ ckjs esa crkb;sμ

(a) ltho nqfu;k dh lcls NksVh dksf'kdk

(b) ltho nqfu;k dh lcls cM+h dksf'kdk 2

16. A new individual can be formed from a small protuberance arising on the
parent body.

(a) Name the type of asexual reproduction in the above case.

(b) Name two organisms that reproduce by this method.

tud 'kjhj ij cuus okys ,d NksVs ls mckj ls ,d u;s tho dh jpuk gks ldrh gSA

(a) ,sls vySafxd iztuu dk uke crkb;sA

(b) ,sls nks thoksa osQ uke crkb;s] tks bl izdkj ls iztuu djrs gSaA 2
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17. Vaccination is an important way to build immunity.

(a) How does a vaccine produce immunity to a disease ?

(b) Name two methods of administering vaccines.

jksx izfrjks/d 'kfDr cukus osQ fy, Vhdkdj.k ,d egÙoiw.kZ mik; gSA

(a) Vhdk fdlh chekjh osQ izfr izfrjks/drk oSQls mRiUu djrk gS\

(b) Vhddj.k djus osQ nks mik; crkb;sA 2

18. Eyes are our ‘windows’ to the world; it is, therefore, very important to

take good care of them. Suggest any three precautions to ensure proper

functioning  of human eye.

vk¡[ksa nqfu;k osQ fy, gekjh ^f[kM+fd;k¡* gSaA blfy, mudh vPNh ns[kHkky djuk cgqr

egÙoiw.kZ gSA ekuo vk¡[kksa osQ mfpr dkedkt dks lqfuf'pr djus osQ fy, dksbZ rhu

lko/kfu;k¡ lq>kb;sA 3

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

A middle aged person is not able to read a book when it is held

somewhat away from his eyes.

(a) Name the eye defect, from which he is suffering.

(b) State the two likely causes of this defect.

(c) How can this defect be corrected ?

,d eè;e vk;q dk O;fDr viuh vk¡[kksaa ls oqQN nwjh ij j[kh iqLrd dks i<+

ugha ik jgk gSA

(a) ml us=k nks"k dk uke fyf[k,] ftlls og ihfM+r gSA

(b) bl us=k nks"k osQ nks laHkkfor dkj.k crkb,A

(c) bl nks"k dks fdl izdkj Bhd fd;k tk ldrk gS\
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19. (a) Define the terms :

(i) electroplating and (ii) electrorefining

(b) Name the cathode and anode used in electrorefining of copper. 3

(a) (i) fo|qr ysiu vkSj (ii) fo|qr ifj"dj.k dks ifjHkkf"kr dhft;sA

(b) rkacs osQ fo|qr ifj"dj.k esa iz;qDr gksus okys oSQFkksM vkSj ,uksM osQ uke fyf[k;sA

20. Describe an experiment to show that we can get electrical energy by using

a magnet.

,d ,sls iz;ksx dk o.kZu dhft, tks ;g fn[kkrk gS fd ge pqacd dk mi;ksx djosQ

fo|qr mQtkZ izkIr dj ldrs gSaA 3

21. (a) Arrange the following metals in increasing order of their reactivity :

Al ,   Pt ,   Cu ,   Na

(b) From the following displacement reactions, which one can take place in

actual practice ? Give reason in support of your answer.

(i) Mg + CuSO4            MgSO4 + Cu

(ii) Cu + MgSO4          CuSO4 + Mg 3

(a) fuEufyf[kr /krqvksa dks mudh vfHkfozQ;k {kerk Js.kh osQ c<+rs ozQe esa fyf[k, %

Al ,   Pt ,   Cu ,   Na

(b) fuEufyf[kr foLFkkiu fozQ;kvksa esa dkSu lh fozQ;k okLrfod O;kogkj esa gks ldrh gS\ vius

mÙkj osQ leFkZu esa dkj.k fyf[k;s %

(i) Mg + CuSO4            MgSO4 + Cu

(ii) Cu + MgSO4          CuSO4 + Mg

⎯ →⎯

⎯ →⎯

⎯ →⎯

⎯ →⎯
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22. Enlist any three changes in the normal properties of water, which can be used

to recognise the presence of pollutant in it.

ikuh osQ lkekU; xq.kksa esa fdUgha ,sls rhu ifjorZuksa dks lwphc¼ djsa ftudk iz;ksx ikuh esa iznw"kd

dh mifLFkfr dks tkuus osQ fy, fd;k tk ldrk gSA 3

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

Suggest any three simple steps that can be taken, to avoid wastage of water.

ikuh dk {k; (cckZnh) jksdus osQ fy,] dksbZ rhu ljy mik; lq>kb;sA

23. Mention the three conditions that are necessary or required for combustion.

ngu (Tokyk) izkjEHk djus vFkok pyrs jgus osQ fy, rhu vko';d fLFkfr;k¡ crkb;sA 3

24. Write the function of following parts of a cell :

(a) Cell membrane

(b) Smooth Endoplasmic Reticulum

(c) Leucoplasts

dksf'kdk osQ fuEufyf[kr fgLlksa (Hkkxksa) osQ dk;Z fyf[k, %

(a) dksf'kdk f>Yyh

(b) fpduh dks'kdh; nzO; tkfydk (Smooth Endoplasmic Reticulum)

(c) Y;wdksIykLVl 3

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

Write any three differences between a plant cell and an animal cell.

,d ikni dksf'kdk vkSj ,d tUrq dksf'kdk esa dksbZ rhu varj fyf[k;sA

25. Give reasons for the following :

(a) Jams and jellies are usually preserved using a high concentration of sugar.

(b) Milk is boiled before its use or storage.

(c) Foods, from puffed or enlarged cans, should not be consumed. 3
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fuEufyf[kr osQ dkj.k crkb;s %

(a) tSe vkSj tSyh izk;% vR;f/d phuh }kjk ifjjf{kr fd;k tkrk gSA

(b) nw/ dks iz;ksx ;k laxzg djus ls igys mckyk tkrk gSA

(c) iwQyh gq,] ;k vkdkj esa lkekU; ls c<+s gq,] fMCcs osQ [kk| inkFkks± dk lsou ugha fd;k

tkuk pkfg,\

26. A lens forms an erect, magnified and virtual image of an object.

(a) Name the type of lens

(b) Where is the object placed in relation to the lens ?

(c) Draw a ray diagram to show the formation of this image. 5

,d ysal fdlh oLrq dk lh/k] vko/Zd (vkdkj esa cM+k) vkSj vkHkklh izfrfcEc cukrk gSA

(a) ysal osQ izdkj dk uke fyf[k;sA

(b) oLrqq dks ysal osQ lanHkZ esa dgk¡ j[kk x;k gS\

(c) bl izfrfcEc fuekZ.k dks n'kkZus osQ fy, ,d fdj.k vkjs[k cukb;sA

Alternative question for Visually Challenged Students in lieu of Q. 26Alternative question for Visually Challenged Students in lieu of Q. 26Alternative question for Visually Challenged Students in lieu of Q. 26Alternative question for Visually Challenged Students in lieu of Q. 26Alternative question for Visually Challenged Students in lieu of Q. 26

iz'u la[;k 26 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ks a osQ fy, oSdfYid iz'uiz'u la[;k 26 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ks a osQ fy, oSdfYid iz'uiz'u la[;k 26 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ks a osQ fy, oSdfYid iz'uiz'u la[;k 26 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ks a osQ fy, oSdfYid iz'uiz'u la[;k 26 osQ LFkku ij n`f"Vckf/r fo|kfFkZ;ks a osQ fy, oSdfYid iz'u

Complete the following table :

Type of Lens Position of Nature of Size of

Object Image Image

Convex Between optical (i) (ii)

centre and focus

Convex At focus (iii) (iv)

Convex At infinity (v) (vi)

Concave At infinity (vii) (viii)

Concave At any distance (ix) (x)
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fuEufyf[kr rkfydk (lkj.kh) dks iwjk djsaμ

ysal dk izdkj oLrq dh fLFkfr izfrfcEc dh izfrfcEc dk

izòQfr vkdkj

mÙky ysal ‘O’ vkSj ‘F’ osQ chp (i) (ii)

mÙky ysal iQksdl ‘F’ ij (iii) (iv)

mÙky ysal vuar (infinity) ij (v) (vi)

vory ysal vuar ij (vii) (viii)

vory ysal fdlh Hkh nwjh ij (ix) (x)

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

(a) Define dispersion of light.

(b) Which colour of white light gets deviated (i) most (ii) least by a glass

prism ?

(c) State the basic cause of refraction of light.

(d) ‘A part of a pencil, under water, appears bent with respect to its part

above water.’ Give reason for this observation.

(a) izdk'kh; izdh.kZu ;k foltZu (fMLi'kZu) dks ifjHkkf"kr djsaA

(b) lisQn izdk'k dk dkSu lk jax fizTe n~okjk (i) lcls vf/d (ii) lcls de fopfyr gksrk gS\

(c) izdk'k osQ viorZu dk ewy dkj.k crkb;sA

(d) ^^ikuh esa j[kh gqbZ iSafly dk ikuh osQ vanj dk Hkkx ikuh osQ mQij okys Hkkx ls eqM+k gqvk

fn[krk gSA** bl voyksdu dk dkj.k crkb;sA

27. (a) Sound plays an important role in human life as it helps us to communicate

with others in our daily life. Describe the mechanism of production of

sound in human beings.

(b) Define  amplitude of vibrations. Name the characteristic of sound which

depends on its amplitude.
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(a) èofu ekuo thou esa ,d egÙoiw.kZ Hkwfedk fuHkkrh gS D;ksafd blls ge vius nSfud thou

esa nwljksa osQ lkFk laokn dj ldrs gSaA euq";ksa esa èofu osQ mRiknu dh fozQ;kfof/ dk o.kZu

dhft;sA

(b) oaQiu osQ vk;ke dks ifjHkkf"kr djsaA èofu dh ml fo'ks"krk (xq.k) dk uke crkb;s tks mlosQ

vk;ke ij fuHkZj djrh gSA 5

28. Compare the properties of metals and non-metals with respect to :

(a) Thermal conductivity (b) Boiling point

(c) Reaction with oxygen (d) Reaction with water

(e) Reaction with acids

/krqvksa vkSj v/krqvksa osQ xq.kksa dh rqyuk mudh fuEu fo'ks"krkvksa osQ lanHkZ esa dhft;s %

(a) m"e pkydrk (b) DoFkukad

(c) vkWDlhtu osQ lkFk vfHkfozQ;k (d) ikuh osQ lkFk vfHkfozQ;k

(e) vEyksa (,flM) osQ lkFk vfHkfozQ;k 5

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

(a) Explain the three main steps involved in extraction of a metal from its

ore.

(b) ‘Noble metals retain their lustre for a very long time.’ Give two reasons

in support of this statement.

(a) vius v;Ld (/krqd) ls /krq osQ ifj"dj.k (fu"d"kZ.k) osQ fy, iz;qDr rhu eq[; pj.kksa

dks le>kb,A

(b) ^^uksscy /krq,¡ cgqr yacs le; rd viuh ped cuk;s j[krs gSaA** bl dFku osQ leFkZu esa

nks dkj.k fyf[k;sA
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29. (a) Write the full form of PET.

(b) Name the type of plastic used in making handles of frying pan. Also state
the reason for this.

(c) Choose the thermoplastic and thermosetting plastics from the following:

Melamine, Polythene, Bakelite, Polyvinyl chloride

(a) PET (ih bZ Vh) dk iwjk (:i) uke fyf[k;sA

(b) izQkbax iSu dk gSaMy cukus esa iz;qDr IykfLVd osQ izdkj dk uke fyf[k;sA bldk dkj.k Hkh

crkb;sA

(c) fuEufyf[kr esa ls FkeksZIykfLVd vkSj FkeksZlsfVax IykfLVd NkVsaμ

esykekbu] ikWfyfFku] csDykbV] ikWyhfoukby DyksjkbM 5

30. (a) Give reasons :

(i) Fertilization in humans is an example of internal fertilization.

(ii) Earthworm is called a hermaphrodite animal.

(b) Enlist any three changes that take place in the tadpole during its
metamorphosis.

(a) dkj.k crkb, %

(i) ekuo esa fu"kspu fozQ;k vkarfjd fu"kspu dk ,d mnkgj.k gSA

(ii) osQpqvk¡ mHk;fyaxh tarq dgk tkrk gSA

(b) VsMiksy osQ dk;karj.k osQ nkSjku gksus okys rhu cnyko crkb;sA

OR OR OR OR OR (vFkok)(vFkok)(vFkok)(vFkok)(vFkok)

(a) Write the function of the following :

(i) Oviduct

(ii) Ovaries

(iii) Tip of the head of sperm

(b) Write two points of difference between oviparous and viviparous animals.
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(a) fuEufyf[kr osQ dk;Z crkb, %

fMacokfguh

vaMk'k;

'kqozQk.kq osQ flj dk mQijh Hkkx

(b) tjk;qt tarqqvksa ,oa vaMiztd tarqvksa  esa nks fHkUurk;sa crkb;sA 5

31. (a) Give reason : A male plays an important role in determining the sex of

a child.

(b) Enlist three events that occur in the reproductive phase in human females

if fertilization does not take place.

(a) dkj.k crkb, % cPps osQ fyax fu/kZj.k esa iq#"k dh Hkwfedk egÙoiw.kZ gksrh gSA

(b) fu"kspu u gksus dh fLFkfr esa ekuo eknk dh izturh; voLFkk esa gksus okys rhu izeq[k ?kVukvksa

dks lwphc¼ dhft;sA 5


